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QUESTION 1

For a given mass and constant temperature, an inverse relationship exists between the volume and pressure of a gas. 

Which of the answer choices provided best defines the following statement? 

A. Stefan-Boltzmann Law 

B. Ideal Gas Law 

C. Boyle\\'s Law 

D. Charles\\' Law 

Correct Answer: C 

Boyle\\'s law states that for a constant mass and temperature, pressure and volume are related inversely to 

one another: 

PV = c, where c = constant. 

 

QUESTION 2

Which of these make up a molecule of fat? 

A. three molecules of fatty acid and one molecule of glycerol 

B. one glycerol molecule and three stearic acid molecules 

C. three molecules of glycerol and one molecule of fatty acid 

D. one carbon, one hydrogen, and one oxygen molecule 

Correct Answer: A 

 

QUESTION 3

Maturation and development of T cells takes place in which region? 

A. spleen 

B. bone marrow 

C. lymph nodes 

D. thymus gland 

Correct Answer: D 
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QUESTION 4

A man of mass 60 kg, runs up the stairs of total height 5 meters in 4 seconds. 

How much power is exerted by the man? 

A. 800W 

B. 750 W 

C. 250W 

D. 1000W 

Correct Answer: B 

 

QUESTION 5

Prokaryotic and eukaryotic cells are similar in having which of the following? 

A. Presence of a nucleus 

B. Protein-studded DNA 

C. Integral membrane proteins in the plasma membrane 

D. Membrane-bound organelles 

Correct Answer: D 

Both prokaryotes and eukaryotes interact with the extracellular environment and use membrane-bound or membrane-
associated proteins to achieve this. They both use diffusion and active transport to move materials in and out of their
cells. Prokaryotes have very few proteins associated with their DNA, whereas eukaryotes\\' DNA is richly studded with
proteins. Both types of living things can have flagella, although with different structural characteristics in the two groups.
The most important differences between prokaryotes and eukaryotes are the lack of a nucleus and membrane-bound
organelles in prokaryotes. 
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